FaE | #7TH fi# = %ﬁﬁ@%{‘% NO1C NAME
yavdns A TR X SR 3
A —2R Ba—=x Ca—=x

O x+3)(+2)
= xy+2x +3y+6
®@ (a+b)c—4d)

ac —ad Tbc —bd

® @—=50+2)

= xy+2x —5y—10
@ (@a—8)(b—9)
= ab—9a —8b +72

® +5x+17)

x*+Tx +5x +35

x? +12x +35
©® (a—8)(a—12)

a?> —12a —8a +96

a? —20a +96

@ (4a+5b)(a—2b)
4a*> —8ab +5ab —10b?
4a*> —3ab —10b?
x+»)2x+y+4)
= 2x*txy +4x +2xy +y*+4y
=242 +3xy +4x Ty*+4y

@ Bx—y)x—5y—1)

3x2 —16xy —3x —xy +5y2+ty

3x? —16xy —3x +5y?+y

(x—8y—6)(3x—y)

= 3x2—xy —24xy +8y*—18x +6y

= 3x* —25xy +8y?—18x +6y

D (@—3)b+4)
= ab +4aq —3b —12
@ (x—y)m+n)

= xm txn —ym—yn

@ (a+2x)(b—3y)

= ab—3ay +2xb —6xy

@ (m—>5)(4+n)

= 4m +mn —20 —5n

® x—5)x+3)

x? +3x —bx —15
x* —2x —15

©® @x+1)(x+3)
2x*+6x +x +3

2x2+7x+3

@ (8x—Ty)(6x—5y)
4852 —40xy —42xy +35y?

48x? —82xy +35y?2
(a+2b)(3a—b+6)

3a* —ab +6a +6ab —2b2+12b

3a® +5ab+6a—2b2+12p
(a—b)(a%+ ab+ b?)

a® +a*b+ab?— a2 —ab*—p?

anbS

(x—9y—T)(5x+2y)

5x2 —43xy —18y2—3b5x— 14y

O  (BGx+8y)x(—3y)

= —15xy —24y?

@ 6x(2xy+ Tx)

12x2y +42x *

3
® — Zx(lGx— 12y)

_3 B SO
4 ¥ X16x— 4 xX—12y

—12x2+9xy

2
— gx(— 15x—9y)

L2 1Ry 2w
— 39c>< 15x 3x>< 9y

1042 +6xy

® (12ab—6b)=3b

12ab 6b

3b  3b

4a — 2
® (—8a%b—+4ab)-(—4ab)

_ 8aab  4ab
4ab 4ab
= 2a—1

1
@ (3x24+9x)—= gx

= (3x2+9x)><%

3x2X 3 9x X3
X ™ X

Ox+27
3
(12x%y — 24xy?) -+ (— ny)

= (12x2y —24xy?) X 4

3xy
_12x2y X4 n 24xy? X 4
- 3xy 3xy
= —16x +32y

5x*+2xy —45xy —18y2 —35x— 14y




